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Processing Overview

The main body of the calculation is contained within stages 1 to 7. Stages 8 to 18 may be required, depending on the taxpayer’s circumstances. They are cross-referenced with various points within stages 1 to 7. Only the end result of processing in stages 8 to 18 are used within stages 1 to 7 but all boxes leading to the end result need to be calculated. For example: c7.5 requires a figure from box c11.16 or c11.17. To calculate box c11.16 or c11.17 not only requires calculating C11.1 onwards but also C10.1 through c10.10, as these are referenced in c11.2 and c11.3.
set calculation type = resident

Calculate boxes c1.1.n.a through c7.58

resident-result = c7.58

If NON UK RESIDENT (box 9.2 present)  

set calculation type = non-resident

Calculate boxes c91.1 through c91.30

Calculate boxes c2.16 through c7.58

non-resident-result = c7.58

If resident-result < non-resident-result

set calculation type = resident

Calculate boxes c1.1.n.a through c7.58

end if

end if

Format SA302 style tax calculation (see Annexe A)

Changes from last version
Stage 10:
Box c13.17 rounding added.

Stage 16:
Box 6.1 added to box c19.2


Stage 1: Collect and Sort Income from the Return (c1 boxes)

If any box in this stage is negative substitute zero
£down – truncate pence to leave integer pounds

Q1: Employments and Directorships (PAYE)

Complete a box c1.1.n for each instance of Question 1


c1.1a.n
total boxes 1.8 to 1.10, 1.12 to 1.23, 1.27 and 1.28
£down



c1.1b.n
 total boxes 1.31 to 1.38
£up



c1.1.n
c1.1a.n minus c1.1b.n



Complete a box c1.1.m for each instance of Question 1M


c1.1.m
box 1M.51 minus box 1M.45
£down


c1.1
(Total all instances (c1.1n) + (Total all instances c1.1.m) 



c1.2
Total all instances (box 1.29 + box 1M.45)
£down


Q2: Share Schemes
c1.3
box 2.42
£down


Q3: Self-Employment (as a sole trader)
c1.4
Total all instances (box 3.92)
£down


Q3L: Lloyds Underwriter
c1.5
box 3L.91 minus c1.6
£down


c1.6
lower of box 3L.91 and (box 3L.25 + box 3L.39)
£down


Q4: Partnerships
c1.7
Total all instances (box 4.73)
£down


c1.8
Total all instances (boxes 4.35 + 4.70)
£down


c1.9
Total all instances (box 4.70A)
£down


Q5: UK Land & Property
c1.10
box 5.43
£down


Q6: Foreign Income
c1.11
boxes 6.4 + 6.5
£down


c1.12
box 6.8 minus c1.15
£down


c1.13
box 6.1 
£down


c1.14
boxes 6.2 + 6.4A
£down


c1.15
box 6.7 multiplied by 100/basic rate (100/22)
£down


Q7: Trusts and Estates
c1.16
boxes 7.3 + 7.6 + 7.15
£down


c1.17
boxes 7.9 + 7.18 + 7.27
£down


c1.18
boxes 7.12 + 7.21 + 7.30
£down


c1.19
box 7.24
£down


Q10: UK Interest
c1.20
boxes 10.1 + 10.4 + 10.7 + 10.8 + 10.11 + 10.14
£down


Q10: Dividends
c1.21
boxes 10.17 + 10.20 + 10.23 + 10.26
£down


Q11: UK Pensions and benefits
c1.22a
11.12 minus 11.13
£down


c1.22
boxes 11.1 + 11.2 + 11.3 + 11.4 + 11.5 + 11.6 + 11.7 + 11.9 + c1.22a
£down


Q12: Gains on insurance policies
c1.23
boxes 12.2 + 12.8
£down


c1.24
box 12.12
£down


c1.25
box 12.5
£down


Q13: Other Income
c1.26
box 13.3 minus box 13.5
£down


Total Non-savings income etc.
c1.27
c1.1 + c1.3 + c1.4 + c1.5 + c1.7 + c1.10 + c1.11 + c1.16 + c1.22 + c1.26

copy to c3.1

Total Lump Sums etc. and gains
c1.28
c1.2 + c1.12 + c1.23

copy to c3.2

Total Savings income etc. (not dividends)
c1.29
c1.8 + c1.13 + c1.17 + c1.20

copy to c3.3

Total Dividends
c1.30
c1.9 + c1.14 + c1.18 + c1.21

copy to c3.4

Total Non-savings income etc. with Notional tax
c1.31
c1.6 + c1.19 + c1.24

copy to c3.5

Total gains on life policies etc. with Notional tax
c1.32
c1.15 + c1.25

copy to c3.6

Total Income
c1.33
c1.27 + c1.28 + c1.29 + c1.30 + c1.31 + c1.32

copy to c3.7

Stage 2: Collect Deductions and Allowances from the Return (c2 boxes)

If any box in this stage is negative substitute zero
£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

Copy Losses from questions 3, 4, 5, 8, and 15
c2.1
box 3L.85 + Total all instances (box 3.85)
£up


c2.2
Total all instances (boxes 4.15 + 4.61)
£up


c2.3
boxes 5.16 + 5.44
£up


c2.4
from box 8.13A
£up


c2.5
from box 15.8
£up


Total losses
c2.6
c2.1 + c2.2 + c2.3 + c2.4 + c2.5



Other deductions from questions 7, 14 and 15
c2.7
box 7.31
£up


c2.8
c1.16 + c1.17 + c1.18 + c1.19



c2.9
Lower of c2.7 or c2.8



c2.10
Boxes 14.5 + 14.10
£up


c2.11
from box 15.1
£up


c2.12
from box 15.9
£up


c2.13
c2.12  multiplied by 100/(100 - Basic rate)
£up
c2.12 x 100/78

c2.14
from box 15.7
£up


c2.15
from box 15.10
£up


Total Deductions
c2.16
c2.6 + c2.9 + c2.10 + c2.11 + c2.13 + c2.14 + c2.15



Allowances given as a deduction

c2.17
Personal Allowance (£4535)



c2.18
Age related Personal Allowance (from box c10.11) 
£up


c2.19
If box 16.2 present

c2.19 = Blind Persons Allowance (£1450)

else

c2.19 = 0

end if



c2.20
Blind Persons Surplus Allowance from spouse (from box 16.31)
£up


If DOM NON UK RESIDENT (box 9.2) present 

If DOM LDC INPUT ALLOWANCES DUE (box 9.7) not present

Income Reducing Allowances not due (set c2.17 through c2.20 to zero).
Else

If Calculation type = non-resident

Income Reducing Allowances not due (set c2.17 through c2.20 to zero).

End if

End if

End if

Total Income Reducing Allowances

c2.21
Total Boxes c2.17 to c2.20



Total Deductions and Allowances
c2.22
c2.16 + c2.21

Copy to c3.11

Stage 3: Subtract Deductions and Allowances from Income (c3 boxes)

If any box in this stage is negative substitute zero
Total Non-savings income etc.
c3.1
from c1.27



Total Lump Sums etc. and gains
c3.2
from c1.28



Total Savings income etc. (not dividends)
c3.3
from c1.29



Total Dividends
c3.4
from c1.30



Total Non-savings income etc. with Notional tax
c3.5
from c1.31



Total gains on life policies etc. with Notional tax
c3.6
from c1.32



Total Income
c3.7
from c1.33



If Calculation type = non-resident

c3.1
from c91.19



c3.3
from c91.20



c3.4
from c91.21



c3.7
from c91.22



End if

c3.8
Starting rate band (£1880)



c3.9
c3.1 minus c3.8



c3.10
c3.8 minus c3.1



Total Deductions & Allowances
c3.11
from c2.22








c3.12
c3.11 minus c3.9



c3.13
c3.9 minus c3.11



c3.14
c3.2 minus c3.12

copy to c4.29

c3.15
c3.12 minus c3.2



c3.16
c3.8 + c3.13



c3.17
c3.10 + c3.15



c3.18
c3.16 minus c3.17

copy to c4.8*

c3.19
c3.1 + c3.2



c3.20
c3.11 minus c3.19



c3.21
c3.3 minus c3.20

copy to c4.15

c3.22
c3.20 minus c3.3



c3.23
c3.4 minus c3.22

copy to c4.22

c3.24
c3.22 minus c3.4



c3.25
c3.5 minus c3.24

copy to c4.8*

c3.26
c3.24 minus c3.5



c3.27
c3.6 minus c3.26

copy to c4.36

*c3.18 and c3.25 are added together and copied to c4.8

Total Taxable Income
c3.28
c3.7 minus c3.11



Stage 4: Allocate Income to tax bands (c4 boxes)

If any box in this stage is negative substitute zero
£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

c4.1
Basic Rate Band (£27,520)



c4.2
from box 12.9
£up


c4.3
boxes 14.9 + 14.11
£up


c4.4
from box 15.5
£up


c4.5
c4.4  multiplied by 100/(100-Basic rate)
£up
c4.4 x 100/78

c4.6
starting rate band (£1,880)



c4.7
c4.1 + c4.2 + c4.3 + c4.5



Allocate Non-savings Income etc.
c4.8
c3.18 + c3.25



c4.9
lower of c4.6 or c4.8



c4.10
c4.8 minus c4.9



c4.11
lower of c4.7 or c4.10



c4.12
c4.10 minus c4.11



c4.13
c4.6 minus c4.9



c4.14
c4.7 minus c4.11



Allocate Savings etc. (except Dividends)
c4.15
from c3.21



c4.16
lower of c4.13 or c4.15



c4.17
c4.15 minus c4.16



c4.18
lower of c4.14 or c4.17



c4.19
c4.17 minus c4.18



c4.20
c4.13 minus c4.16



c4.21
c4.14 minus c4.18



Allocate Dividends etc.
c4.22
from c3.23



c4.23
lower of c4.20 or c4.22



c4.24
c4.22 minus c4.23



c4.25
lower of c4.21 or c4.24



c4.26
c4.24 minus c4.25



c4.27
c4.20 minus c4.23



c4.28
c4.21 minus c4.25



Allocate Lump sum payments and gains on life policies without notional tax
c4.29
from c3.14



c4.30
lower of c4.27 or c4.29



c4.31
c4.29 minus c4.30



c4.32
lower of c4.28 or c4.31



c4.33
c4.31 minus c4.32



c4.34
c4.27 minus c4.30



c4.35
c4.28 minus c4.32



Allocate Chargeable event gains (with notional tax) etc.
c4.36
from c3.27



c4.37
lower of c4.34 or c4.36



c4.38
c4.36 minus c4.37



c4.39
lower of c4.35 or c4.38



c4.40
c4.38 minus c4.39



Stage 5: Charge Income to tax (c5 boxes)

If any box in this stage is negative substitute zero
pdown – truncate to two decimal places (to leave pounds and pence)

Non-savings income

c5.1
c4.9 + c4.30



c5.2
c5.1 @ Starting rate
pdown
c5.1 @ 10%

c5.3
c4.11 + c4.32 + c4.37 + c4.39



c5.4
c5.3 @ Basic rate
pdown
c5.3 @ 22%

c5.5
c4.12 + c4.33 + c4.40



c5.6
c5.5 @ Higher rate
pdown
c5.5 @ 40%

Savings income
c5.7
from c4.16



c5.8
c5.7 @ Starting rate
pdown
c5.7 @ 10%

c5.9
from c4.18



c5.10
c5.9 @ Lower Savings rate
pdown
c5.9 @ 20%

c5.11
from c4.19



c5.12
c5.11 @ Higher Savings rate
pdown
c5.11 @ 40%

Dividend income
c5.13
c4.23 + c4.25



c5.14
c5.13 @ Lower Dividend rate
pdown
c5.13 @ 10%

c5.15
from c4.26



c5.16
c5.15 @ Higher Dividend rate
pdown
c5.16 @ 32.5%

Income Tax Due
c5.17
If Calculation type = non-resident
c5.2 + c5.4 + c5.6 + c5.8 + c5.10 + c5.12 + c5.14 + c5.16 + c91.30

else

c5.2 + c5.4 + c5.6 + c5.8 + c5.10 + c5.12 + c5.14 + c5.16

End if

copy to c7.1

Stage 6: Accumulate tax paid from Tax Return (c6 boxes)

If any box in this stage is negative substitute zero
c6.1a
sum all instances of box 1.11



c6.1b
sum all instances of box 1.30



c6.1
c6.1a + c6.1b



c6.2
sum all instances of box 1M.50



c6.3a
sum all instances of box 3.97



c6.3b
sum all instances of box 3.98



c6.3
c6.3a + c6.3b



c6.4
boxes 3L.12 + 3L.50 + 3L.53



c6.5a
sum all instances of box 4.74



c6.5b
sum all instances of box 4.75



c6.5c
sum all instances of box 4.75A



c6.5
c6.5a + c6.5b + c6.5c



c6.6
from box 5.21



c6.7
from box 6.3



c6.8
boxes 7.2 + 7.5 + 7.8 + 7.14 + 7.17 + 7.20



c6.9
from box 9.35



c6.10
boxes 10.3 + 10.6 + 10.10 + 10.13



c6.11
boxes 11.8 + 11.11



c6.12
from box 12.7



c6.13
from box 13.2



Total Tax paid at source
c6.14
c6.1 + c6.2 + c6.3 + c6.4 + c6.5 + c6.6 + c6.7 + c6.8 + c6.9 + c6.10 + c6.11 + c6.12 + c6.13

copy to c7.53

Stage 7: Apply tax adjustments  (c7 boxes)

If any box in this stage is minus substitute zero, unless otherwise stated

pdown – truncate to two decimal places (to leave pounds and pence)

pup – multiply by 100, add .99, truncate decimals, then divide by 100. (e.g. 3.011 becomes 3.02)

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

Income Tax Due
c7.1
from c5.17



Top Slicing Relief
c7.2
from c13.28



Venture Capital Trust and Enterprise Investment Schemes
c7.3
boxes 15.3 + 15.4
£up


c7.4
c7.3 @ EIS VCT rate

c7.3 @ 20%

Married Couples Allowance
c7.5
If box 16.5 present 

c7.5 = c11.17 

else  

If box 16.12 present

c7.5 = c11.16

else

c7.5 = 0

end if

end if



Married couples surplus allowance
c7.6
from box 16.32
£up


Maintenance and Alimony
c7.7
from box 15.2
£up


Children’s tax credit
c7.8
from c12.7



c7.9
from box 16.33
£up


If (c7.5 + c7.6) > 0 and (c7.8 + c7.9) > 0
(both MCA & CTC claimed)

If (c7.5 + c7.6) > (c7.8+ c7.9)
(MCA beneficial - Set CTC to zero)

set c7.8 to zero

set c7.9 to zero

else
(CTC beneficial - Set MCA to zero)
set c7.5 to zero

set c7.6 to zero


end if

end if

If DOM NON UK RESIDENT (box 9.2) present 

If DOM LDC INPUT ALLOWANCES DUE (box 9.7) not present

Income Reducing Allowances not due (set boxes c7.5, c7.6, c7.8 & c7.9 to zero).
else

If Calculation type = non-resident

Income Reducing Allowances not due (set boxes c7.5, c7.6, c7.8 & c7.9 to zero).

end if

end if

end if

c7.10
c7.5 + c7.6 + c7.7 + c7.8 + c7.9



c7.11
c7.10 @ Allowances rate

c7.10 @ 10%

Notional Tax on Gains on life policies
c7.12
from box c4.36



c7.13
c7.12 @ basic rate
pup
c7.12 @ 22%

Notional Tax on other income
c7.14
from c15.25



Tax Credit relief
c7.15
from box 6.9



Widows and Orphans pension relief
c7.16
from box 15.11
£up


S233(2) Relief
c7.17
from c16.6



S135(5) relief
c7.18
from c17.15



c7.19
c7.2 + c7.4 + c7.11 + c7.13 + c7.14 + c7.15 + c7.16 + c7.17 + c7.18



Income tax due after allowances and reliefs
c7.20
c7.1 minus c7.19



Gift Aid Payments
c7.21
from c4.5



c7.22
c7.21 @ basic rate 
pdown
c7.21 @ 22%

c7.23
from c14.24



c7.24
c7.22 minus c7.23



Income tax due
c7.25
higher of c7.20 and c7.24



Tax due on annuities
c7.26
from c18.6



c7.27
c7.25 + c7.26



Non-payable tax credits on dividends
c7.28
boxes c1.9 + 10.17 + 10.20 + 7.12 + 7.30
£down


c7.29
c7.28 @ lower dividend rate 

c7.28 @ 10%

c7.30
from c3.23



c7.31
c7.28 minus c7.30



c7.32
c7.25 minus c7.20



c7.33
c7.13 + c7.14



c7.34
lower of c7.32 and c7.33



c7.35
c7.34 divided by lower dividend rate

c7.34 x 10 (ten)

c7.36
c7.31 minus c7.35



c7.37
c7.24 minus c7.1



c7.38
c7.37 divided by lower dividend rate

c7.37 x 10 (ten)

c7.39
c7.36 minus c7.38



c7.40
If c7.31 > zero

c7.40 = c7.39 @ lower dividend rate

else

c7.40 = zero

end if 

c7.39 @ 10%

c7.41
c7.29 minus c7.40



c7.42
from box 3L.25
£down


c7.43
from c15.20



c7.44
lower of c7.42 and c7.43



c7.45
c7.44 @ lower dividend rate

c7.44 @ 10%

c7.46
If Calculation type = non-resident

c7.46 = c91.26

else

c7.46 = c7.41 + c7.45

End if



c7.47
c7.27 minus c7.46



Class 4 National Insurance contributions
c7.48
If Calculation type = non-resident
c7.48 = zero

else

c7.48 = c92.7

End if



Income Tax and Class 4 National Insurance contributions
c7.49
c7.47 + c7.48



Unpaid tax for earlier years included in PAYE code
c7.50
from box 18.1



Repayment of student loans
c7.51
from c19.10



c7.52
c7.49 + c7.50 + c7.51 



Total tax paid at source
c7.53
from c6.14



Unpaid tax included in PAYE code for later year
c7.54
from box 18.2



c7.55
c7.53 + c7.54



Total Income Tax and Class 4 NIC due
c7.56
c7.52 minus c7.55
This box can be negative


Capital gains tax
c7.57
from c14.24



Total Tax and Class 4 NIC due
c7.58
c7.56 + c7.57
This box can be negative


Stage 8: Calculate Age related allowances (c10 c11 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

Calculate Net Statutory Income for age related allowances 

Income
c10.1
 from c1.33 



Deductions
c10.2
c2.16 minus c2.15



c10.3
from c4.3



c10.4
from c4.5



c10.5
 c10.2 + c10.3 + c10.4 



Net Income for Allowances
c10.6
c10.1 minus c10.5



Income Limit for Age Allowance
c10.7
Age Allowance Income Limit

£17,600

c10.8
c10.6 minus c10.7



Taxpayer’s DOB = earlier date from box 16.3 or box 22.6
c10.9
if Taxpayer’s DOB is null or after 5 April 1937 

c10.9 = zero

else

if Taxpayer’s DOB is before 6 April 1927

c10.9 = 1725

else (Taxpayer’s DOB is between 6 April 1927 and 5 April 1937)
c10.9 = 1455

end if

end if 



c10.10
c10.8 @ Age Allowance taper
£down
c10.8 @ 50%

Age Allowance
c10.11
c10.9 minus c10.10



Calculate Age related Married Couple's Allowance Due claimed by husband (box 16.5 present)

If box 16.5 present then

DOB for Married Couple's Allowance = earliest date from box 22.6 or box 16.3 or box 16.4 or box 16.9
c11.1
If DOB for Married Couple's Allowance is Null or after 5 April 1935

 c11.1= zero

else

If DOB for Married Couple's Allowance is before 6 April 1927

c11.1 = 5435

else (DOB for Married Couple's Allowance is between 6 April 1927 and 5 April 1935)
c11.1 = 5365

end if

end if



c11.2
from c10.10



c11.3
from c10.9



c11.4
c11.2 minus c11.3



c11.5
c11.1 minus c11.4



c11.6
If c11.1 is greater than zero

c11.6 = Higher of box c11.5 and £2070 (minimum MCA)

else

c11.6 = zero
end if



c11.7
from c11.6



c11.8
If box 16.6 present

 c11.8 = Select month from table A

else

 c11.8 = zero

end if



c11.9
c11.7 multiplied by c11.8
£ down


c11.10
c11.9 divided by 12
£ down


c11.11
c11.7 minus c11.10



Else

  C11.11 = 0

End if 

Table A


Date of marriage
Month



before 5 May 2001
0



6 May 2001 to 5 June 2001
1



6 June 2001 to 5 July 2001
2



6 July 2001 to 5 August 2001
3



6 August 2001 to 5 September 2001
4



6 September 2001 to 5 October 2001
5



6 October 2001 to 5 November 2001
6



6 November 2001 to 5 December 2001
7



6 December 2001 to 5 January 2002
8



6 January 2002 to 5 February 2002
9



6 February 2002 to 5 March 2002
10



6 March 2002 to 5 April 2002
11


Calculate Age related Married Couple's Allowance due to wife 

This can be either claimed by wife (box 16.12 present) or allocated to wife by husband( box 16.7 present or box 16.8)
If box 16.12 present or box 16.7 present or box 16.8 present then

DOB for Married Couple's Allowance = earliest date from box 22.6 or box 16.3 or box 16.4 or box 16.9

If DOB for Married Couple's Allowance is before 6 April 1935

c11.12
if box 16.10 present or box 16.7 present

c11.12 = £1035 (half minimum MCA)

else

if box 16.11 present or box 16.8 present

c11.12 = £2070 (minimum MCA) 

else

c11.12 = zero

end if

end if




c11.13
If box 16.6 or 16.13 present

 c11.8 = Select month from table A

else

 c11.8 = zero

end if

Box 16.6 may be present when claimed by husband.

Box 16.13 may be present when claimed by wife.


c11.14
c11.12 multiplied by c11.13
£ down



c11.15
c11.14 divided by 12
£ down



c11.16
c11.12 minus c11.15

If box 16.12 present

copy to box c7.5

else

c11.16 = zero

end if 
else

c11.16 = zero
end if

If box 16.5 present then

c11.17
c11.11 minus c11.16

copy to box c7.5

end if

Stage 9: Calculate Children's tax credit (c12 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

If box 16.15 present 

If box 16.14 date is after 5 April 1985


c12.1
c5.5 + c5.11 + c5.15



If box 16.26 is present


c12.2
from box 16.26
£up


else


c12.3
If box 16.16 ticked

c12.3 = CTC amount

else 
c12.3 = box 16.17

end if
£up
£5200 or box 16.17

If (box 16.20 not ticked) and (box 16.21 not ticked) and (box 16.22 not ticked) (single taxpayer)

c12.4
from c12.3



else


c12.4
If box 16.22 ticked or c12.1 > 0 (higher rate case)

If box 16.21 ticked (not higher earner)
c12.4 = zero

else

c12.4 = c12.3

end if

else (not higher rate case)

If 16.24 ticked

c12.4 = c12.3 divided by 2

else

If 16.23 ticked

If box 16.20 ticked (higher earner)
c12.4 = c12.3

else

c12.4 = zero

end if

else 

If 16.25 ticked

If box 16.21 ticked (lower earner)
c12.4 = c12.3 

else

c12.4 = zero

end if

else

c12.4 = zero

end if

end if

end if

end if
£up


end if

end if


c12.5
from c12.2 or c12.4




c12.6
c12.1 multiplied by 2/3
£ down
c12.1 x 2/3


c12.7
c12.5 minus c12.6

Copy to box c7.8

else

c12.7 = zero

end if 

else

c12.7 = zero
end if
Stage 10: Calculate Top Slicing Relief (c13 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

pdown – truncate to two decimal places (to leave pounds and pence)

pup – multiply by 100, add .99, truncate decimals, then divide by 100. (e.g. 3.011 becomes 3.02)

If box 6.8 + box 12.2 + box 12.5 + box 12.8 is greater than zero.

c13.1
from c1.33



c13.2
from c1.2



c13.3
from box 5.22 
£down


c13.4
c13.2 + c13.3



c13.5
c13.1 minus c13.4



c13.6
from c2.22



c13.7
from c2.14



c13.8
c13.6 minus c13.7



c13.9
c13.5 minus c13.8



c13.10
Higher rate threshold 

£29,400

c13.11
from c4.2 



c13.12
from c4.3 



c13.13
c13.10 + c13.11 + c13.12



c13.14
c13.9 minus c13.13



c13.15
c13.14 @ Higher Rate
pup
c13.14 x 40%

If c13.14 = 0 and box 8.8 = 0 (no Top Slicing relief is due)

Set boxes c13.16 through c13.17 to zero

else

c13.16
box 12.2 + box 12.5 + box 12.8 + box 6.8
£down


Calculate Appropriate fraction
c13.17
If box 12.2 is present AND box 12.1 not present

or

box 12.5 is present AND box 12.3 not present

or

box 12.8 is present AND box 12.6 not present

or

box 6.8 is present AND box 6.6 not present

c13.17 = ITF CEG INPUT AMOUNT 

else

c13.17 = (box 12.2 / box 12.1†) + 

(box 12.5 / box 12.3†) + (box 12.8 / box 12.6†) + (box 6.8 / box 6.6†)

end if
† If box 12.1 or box 12.3 or box 12.6 or box 6.6 is less than 1 substitute 1.
£down

end if

If c13.14 = 0 (no Top Slicing relief is due)

Set boxes c13.18 through c13.28 to zero

else

c13.18
c13.5 + c13.17



c13.19
c13.18 minus c13.16



c13.20
c13.19 minus c13.8



c13.21
c13.20 minus c13.13



c13.22
If c13.16 divided by c13.17 > 1

c13.22 = c13.16 divided by c13.17

else

c13.22 = 1

end if
Truncate to 2 decimal places


c13.23
 c13.21 multiplied by c13.22 



c13.24
 c13.23 @ Higher rate
pdown
c13.23  x 40%

c13.25
 c13.15 minus c13.24 



c13.26
 c13.14 minus c13.23 



c13.27
 c13.26 @ Basic rate
pdown
c13.26  x 22%

c13.28
 c13.25 minus c13.27 

copy to box c7.2

end if

else 

c13.28 = zero
end if

Stage 11: Calculate Capital Gains Tax Due (c14 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

pdown – truncate to two decimal places (to leave pounds and pence)

pup – multiply by 100, add .99, truncate decimals, then divide by 100. (e.g. 3.011 becomes 3.02)

If boxes 8.8 + 8.9 + 6.10 is greater than zero

c14.1
from c1.33



c14.2
If boxes 12.2 + 12.5 + 12.8 + 6.8 is greater than zero
c14.2 = c13.16 minus c13.17

else

c14.2 = zero

end if



c14.3
c14.1 minus c14.2



c14.4
from c2.22



c14.5
c14.3 minus c14.4



c14.6
Starting rate band 

£1,880

c14.7
from c4.7



c14.8
c14.6 + c14.7



c14.9
c14.8 minus c14.5



c14.10
c14.1 minus c14.4



c14.11
c14.6 minus c14.10



c14.12
c14.9 minus c14.11



c14.13
from box 8.8
£down


c14.14
lower of c14.11 or c14.13



c14.15
c14.14 @ Starting rate
pdown
c14.14 x 10%

c14.16
c14.13 minus c14.14



c14.17
lower of c14.12 or c14.16



c14.18
c14.17 @ Lower CGT Rate
pdown
c14.17 x 20%

c14.19
c14.16 minus c14.17



c14.20
c14.19 @ Higher CGT Rate
pdown
c14.19 x 40%

c14.21
c14.15  + c14.18  + c14.20



c14.22
from box 8.9
£down


c14.23
from box 6.10
£up


c14.24
c14.21 + c14.22 minus c14.23

copy to box c7.57 

else

c14.24 = zero
end if

Stage 12: Calculate notional tax (c15 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

pdown – truncate to two decimal places (to leave pounds and pence)

pup – multiply by 100, add .99, truncate decimals, then divide by 100. (e.g. 3.011 becomes 3.02)

c15.1
from box 4.78



c15.2
c15.1 multiplied by 100/lower dividend rate
£up
(c15.1 x 10)

c15.3
boxes 10.23 + 10.26
£up


c15.4
c15.2 + c15.3 



c15.5
from c3.22



c15.6
boxes 6.2 + 6.4A + 7.21
£up


c15.7
c15.5 minus c15.6



c15.8
c15.4 minus c15.7



c15.9
c15.8 @ lower dividend rate

c15.8 x 10%

c15.10
from c3.25



c15.11
from box 7.24
£up


c15.12
from box 12.12
£up


c15.13
c15.11 + c15.12



c15.14
lower of boxes c15.10 or c15.13



c15.15
c15.14 @ basic rate
pup
c15.14  x 22%

c15.16
c15.10 minus box c15.14



c15.17
from box 3L.39
£up


c15.18
lower of c15.16 or c15.17



c15.19
c15.18 @ starting rate

c15.18 x 10%

c15.20
c15.16 minus c15.18

Copy to box c7.43

c15.21
from c4.15



c15.22
from box 7.27
£up


c15.23
lower of c15.21 or c15.22



c15.24
c15.23 @ lower savings rate

c15.23 x 20%

c15.25
c15.9 + c15.15 + c15.19 + c15.24

Copy to box c7.14

Stage 13: Calculate S233(2) Relief (c16 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

pdown – truncate to two decimal places (to leave pounds and pence)

pup – multiply by 100, add .99, truncate decimals, then divide by 100. (e.g. 3.011 becomes 3.02)

If box 15.12 is greater than zero

c16.1
from c4.26



c16.2
boxes 10.17 + 10.26
£up


c16.3
lower of boxes c16.1 and c16.2



c16.4
c16.3 @ 

(Higher dividend rate minus Lower dividend rate) 
pup
c16.3 x 22.5%

c16.5
from box 15.12



c16.6
lower of boxes c16.4 and c16.5

copy to c7.17

else

c16.6 = zero
end if

Stage 14: Calculate S135(5) Relief (c17 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

pdown – truncate to two decimal places (to leave pounds and pence)

pup – multiply by 100, add .99, truncate decimals, then divide by 100. (e.g. 3.011 becomes 3.02)

If box 2.76 is greater than zero

c17.1
from box 2.42
£up


c17.2
from c3.18



c17.3
lower of c17.1 or c17.2



c17.4
from c4.12



c17.5
lower of c17.3 or c17.4



c17.6
c17.5 @ Higher rate

c17.5 x 40%

c17.7
c17.3 minus c17.5



c17.8
from c4.11



c17.9
lower of c17.7 or c17.8



c17.10
c17.9 @ Basic rate
pup
c17.9 x 22%

c17.11
c17.7 minus c17.9



c17.12
c17.11 x Starting Rate

c17.11 x 10%

c17.13
c17.6 + c17.10 + c17.12



c17.14
from box 2.76



c17.15
lower of c17.13 or c17.14

Copy to box c7.18

else

c17.15 = zero
end if

Stage 15: Calculate tax due on Annual Payments - Annuities (c18 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

pdown – truncate to two decimal places (to leave pounds and pence)

pup – multiply by 100, add .99, truncate decimals, then divide by 100. (e.g. 3.011 becomes 3.02)

If box 15.9 is greater than zero

c18.1
from c1.33



c18.2
from c2.16



c18.3
from c2.13



c18.4
c18.1 minus c18.2



c18.5
lower of c18.3 or c18.4



c18.6
c18.5 @ Basic rate
pdown
c18.5 x 22%

Copy to box c7.26

else

c18.6 = zero
end if

Stage 16: Calculate Student Loan Repayment (c19 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.01 becomes 4)

If box 17.0 = Y

Complete a box c19.1.n for each instance of Question 1

c19.1a.n.
boxes 1.8 + 1.9 + 1.10 + 1.13 + 1.15 + 1.23 + 1.27+ 1.28 + 1.29
£down



c19.1b.n.
 total boxes 1.31 to 1.38
£up



c19.1.n
c1.1a.n. minus c1.1b.n.



Complete a box c19.1.m for each instance of Question 1M

c19.1.m
(box 1M.51 + box 1M.21) minus (box 1M.8 + 1M.22)
£down



c19.1A
(Total all instances c19.1.n)  + (Total all instances c19.1.m)




c19.1B
Total all instances (box 3.92) 
£down



c19.1C
Total all instances (box 4.73)
£down



c19.1
c19.1A + c19.1B + c19.1C + box 3L.91 + box 5.14 + box 11.7
£down



c19.2A
Total all instances (boxes 4.35 + 4.70 + 4.70A)
£down



c19.2B
box 5.43 minus box 5.14




c19.2C
total boxes 11.1 to 11.6 + (box 11.12 minus box 11.13)




c19.2D
box 13.3 minus box 13.5




c19.2
c19.2A + c19.2B + c19.2C + c19.2D + box 2.42 + box 6.1 + box 6.2  + box 6.4 + box 6.4A + box 6.8 + box 7.3 + box 7.6 + box 7.9 + box 7.12 + box 7.15 + box 7.18 + box 7.21 + box 7.24 + box 7.27  + box 7.30 + box 10.1 + box 10.4 + box 10.7 + box 10.8 + box 10.11 + box 10.14 + box 10.17 + box 10.20 + box 10.23 + box 10.26 + box 12.2 + box 12.5 + box 12.8 + box 12.12
£down



c19.3
Unearned Income Threshold (£2,000)




c19.4
If c19.2 is greater than c19.3 

c19.4 = c19.2 

else

c19.4 = zero

end if




c19.5
c19.1 + c19.4




c19.6A
Total all instances (box 3.85) 
£up



c19.6B
Total all instances (box 4.15) 
£up



c19.6
Student Loan Threshold Amount (£10,000) + c19.6A +  c19.6B + box 3L.85 + box 5.16 + box 5.44 + box 14.5 + box 14.9 + box 14.10 + box 14.11 + box 15.8
£up



c19.7
c19.5 minus c19.6




c19.8
c19.7 @ Student loan rate
£down
c19.7 x 9%


c19.9A
Total all instances (box 1.39)
£up



c19.9B
Total all instances (box 1M.52)
£up



c19.9
c19.9A + c19.9B




c19.10
c19.8 minus c19.9

Copy to c7.51

else

c19.10 = zero

end if

Stage 17: Calculate Class 4 NIC liability (c92 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

pdown – truncate to two decimal places (to leave pounds and pence)

If (box 3.94 = Y) or (box 3L.92 = Y) or (box 4.23 = Y) 
NIC exempt

c92.7
c92.9 = zero

copy to c7.48

else

Complete a box c92.1.n for each instance of Question 3


c92.1.n
box 3.92 minus (box 3.82 + box 3.95)
£down


Complete a box c92.2.n for each instance of Question 4


c92.2.n
box 4.73 minus (box 4.12a + box 4.24)
£down



c92.1
Sum all instances of c92.1.n




c92.2
Sum all instances of c92.2.n




c92.3
box 3L.91 minus box 3L.93
£down



c92.4
c92.1 + c92.2 + c92.3




c92.5
NIC limit 

£4535


c92.6
c92.4 minus c92.5




c92.7
Lower of 

(c92.6 @ NIC RATE) or NIC maximum charge
pdown
(c92.6 x 7%) or

£1775

copy to c7.48

end if

Stage 18: Calculate Non-residents excluded income (c91 boxes)

If any box in this stage is minus substitute zero

£down – truncate pence to leave integer pounds

pdown – truncate to two decimal places (to leave pounds and pence)

If box 9.2 = Y

c91.1
from c2.16

copy to c3.11

c91.2
from c1.27



c91.3
from c1.28

copy to c3.2

c91.4
from c1.29



c91.5
from c1.30



c91.6
from c1.31

copy to c3.5

c91.7
from c1.32

copy to c3.6

c91.8
from c1.33



c91.9
from box 7.3
£down


c91.10
boxes 11.1 + 11.2 + 11.3 + 11.4 + 11.5 + 11.6 + 11.7 + 11.9
£down


c91.11
c91.9 + c91.10



c91.12
from c1.17



c91.13
from c1.20



c91.14
c91.12 + c91.13



c91.15
boxes 7.12 + 7.30 + 10.17 + 10.20
£down


c91.16
boxes 7.21 + 10.23 + 10.26
£down


c91.17
c91.15 + c91.16 



Total Excluded Income
c91.18
c91.11 + c91.14 + c91.17



c91.19
c91.2 minus c91.11

copy to c3.1

c91.20
c91.4 minus c91.14

copy to c3.3

c91.21
c91.5 minus c91.17

copy to c3.4

c91.22
c91.3 + c91.6 + c91.7 + c91.19 + c91.20 + c91.21

copy to c3.7

c91.23
boxes 7.2 + 7.8 + 7.17 + 7.20



c91.24
from box c6.10



c91.25
from box 11.8



c91.26
(c91.15 + c1.9 + 3L.25) @ Lower Dividend rate
pdown
(c91.15 + c1.9 + 3L.25) x 10%

copy to c7.46

c91.27
c91.23 + c91.24 + c91.25 + c91.26 



c91.28
from box 7.27
£down


c91.29
c91.28 @ Lower Savings rate

c91.28 x 20%

c91.30
c91.27 + c91.29

Add this to the figure in box  c5.17

end if

Annexe A: Format SA302 style calculation (c93 boxes)

Intermediate boxes used for display:

c93.1
c1.1 + c1.2


c93.2
c1.4 + c1.5 + c1.6


c93.3
c1.7 + c1.8 + c1.9


c93.4
c1.11 + c1.12 + c1.13 + c1.14 + c1.15


c93.5
c1.16 + c1.17 + c1.18 + c1.19


c93.6
c1.23 + c1.24 + c1.25


c93.7
If (boxes c4.2 + c4.3) > 0 and box c4.5 > 0

“Your basic rate limit has been increased by ”£{c4.2 + c4.3} and £{c4.5} to £{c4.6 + c4.7} for pension payments etc. and gift aid payments. This reduces the amount of income charged to higher rates of tax.”

else

If (boxes c4.2 + c4.3) > 0

“Your basic rate limit has been increased by £{c4.2 + c4.3} to £{ c4.6 + c4.7} for pension payments etc. This reduces the amount of income charged to higher rates of tax.”

else

If box c4.5 > 0

“Your basic rate limit has been increased by £{c4.5} to £{ c4.6 + c4.7} for gift aid payments. This reduces the amount of income charged to higher rates of tax.” 

end if 

end if

end if


c93.8
“@ 10% =”
Starting rate

c93.9
“@ 22% =”
Basic rate

c93.10
“@ 40% =”
Higher rate

c93.11
“@ 20% =”
Lower savings rate

c93.12
“@ 10% =”
Lower dividend rate

c93.13
“@ 32.5% =”
Higher dividend rate

c93.14

not used

c93.15
“@ 10% =”
Allowance rate

c93.16
c7.13 + c7.14


c93.17
If c7.25 > c7.20


“Income Tax due after Allowances and Reliefs
(A)”

else


“Income Tax due after Allowances and Reliefs”

end if 


c93.18
If (c7.25 > c7.20) and (c7.57 = 0 or null)


“Tax due on Gift Aid Payments      (B)”

else


“Tax due on Gift Aid Payments”

end if 


c93.19
If c7.25 > c7.20


“Income Tax Due
Higher of A or B”

else


“Income Tax Due”

end if


c93.20
If c14.13 > 0

If c7.25 > c7.20

“Income Tax and Class 4 National Insurance Contributions Due 
(C)”

else

“Income Tax and Class 4 National Insurance Contributions Due 
(A)”
end if 

else

“Income Tax and Class 4 National Insurance Contributions Due”
end if


c93.21
If c7.25 > c7.20

“Capital Gains Tax Due 
(D)”

else

“Capital Gains Tax Due 
(B)”

end if


c93.22
If c7.25 > c7.20

“Tax and Class 4 National Insurance Contributions due 
(C + D)”

else

“Tax and Class 4 National Insurance Contributions due 
(A + B)”

end if 


c93.23
c7.58 + box 20.1 + box 18.4


c93.24
c6.1 + c6.2


c93.25
c6.3 + c6.4


c93.26
c7.5 @ Allowances rate
c7.5 x 10%

c93.27
c7.6 @ Allowances rate
c7.6 x 10%

c93.28
c7.7 @ Allowances rate
c7.7 x 10%

c93.29
c7.8 @ Allowances rate
c7.8 x 10%

c93.30
c7.9 @ Allowances rate
c7.9 x 10%

SA302 layout

L1
Income 





L2
Employments and Directorships (PAYE) minus expenses
c93.1




L3
Share Schemes
c1.3




L4
Self-Employment (as a sole trader)
c93.2




L5
Partnerships
c93.3




L6
UK Land & Property
c1.10




L7
Foreign Income
c93.4




L8
Trusts and Estates
c93.5




L9
UK Interest (before tax)
c1.20




L10
UK Dividends & tax credits
c1.21




L11
UK Pensions & benefits
c1.22




L12
Gains on life policies etc.
c93.6




L13
Other Income
c1.26




L14
Total Income

c1.33



Always print lines L1 & L14 

Lines L2 through L13 only print when the data is not null or zero (e.g. Line L3 prints when c1.3 is not null or zero)

L15
minus deductions and allowances





L16
Losses
c2.6




L17
Foreign tax on Estates (Tax Credit Relief not claimed)
c2.9




L18
Retirement Annuity Relief etc.
c2.10




L19
Loan Interest payments
c2.11




L20
Annuities
c2.13




L21
Gift of investments to charity
c2.14




L22
Trade Union death benefit payments
c2.15




L23
Personal Allowance
c2.17




L24
Age Related Allowance
c2.18




L25
Blind Person's Allowance
c2.19




L26
Blind Person's Surplus Allowance from spouse
c2.20




L27
Total Deductions and Allowances

c2.22



Always print lines L15 & L27 

Lines L16 through L26 only print when the data is not null or zero (e.g. Line L16 prints when c2.6 is not null or zero)

L28
minus income excluded from this calculation

c91.18



L29
Taxable Income

c3.28



Line L28 only prints when calculation type = non-resident

Always print lines L29

L30
How I have calculated your Income Tax





L31
c93.7





L32
Non-savings income etc.

c5.1
c93.8
c5.2

L33


c5.3
c93.9
c5.4

L34


c5.5
c93.10
c5.6

Always print line L30

Print line L31 when c4.7 > c4.1

Print line L32 when c5.1 + c5.3 + c5.5 > 0

Print line L33 when c5.3 + c5.5 > 0

Print line L34 when c5.5 > 0

L35
Savings (other than Dividend income) etc.

c5.7
c93.8
c5.8

L36


c5.9
c93.11
c5.10

L37


c5.11
c93.10
c5.12

Print line L35 when c5.7 + c5.9 + c5.11 > 0

Print line L36 when c5.9 + c5.11 > 0

Print line L37 when c5.11 > 0

L38
Dividend income etc.

c5.13
c93.12
c5.14

L39


c5.15
c93.13
c5.16

Print line L38 when c5.13 + c5.15 > 0

Print line L39 when c5.15 > 0

L40
Taxable Income

c3.28



L41
plus tax on income excluded from this calculation 



c91.30

L42
Income Tax 



c5.17

Always print lines L40 and L42

Line L41 only prints when calculation type = non-resident

L43
minus Top Slicing Relief



c7.2

L44
minus Enterprise Investment Scheme and Venture Capital Trust Shares
c7.4

Print line L43 when c7.2 > 0

Print line L44 when c7.3 > 0
L45
minus Married Couple's Allowance

c7.5
c93.15
c93.26

L46
minus Surplus Married Couple's Allowance from spouse

c7.6
c93.15
c93.27

L47
minus Maintenance and alimony paid



c93.28

L48
minus Children's tax credit



c93.29

L49
minus Surplus Children's tax credit



c93.30

Lines L45 through L49 only print when the data is not null or zero (e.g. Line L46 prints when c93.27 is not null or zero)

L50
minus Notional Tax from





L51
Gains on life policies etc.

c7.13



L52
Other income

c7.14



L53
Total notional tax



c93.16

Lines L50 and L53 print when c93.16 > 0

Lines L51 and L52 only print when the data is not null or zero (e.g. Line L51 prints when c7.13 is not null or zero)

L54
minus Tax Credit Relief (on overseas income)



c7.15

L55
minus Widows and Orphans pension relief



c7.16

L56
minus relief claimed on a qualifying distribution



c16.6

L57
minus income tax paid on the grant of a share option



c7.18

L58
c93.17



c7.20

Lines L54 through L57 only print when the data is not null or zero (e.g. Line L54 prints when c7.15 is not null or zero)

Always print line L58 

L59
c93.18
c7.21
c93.9
c7.22


L60
minus Capital Gains tax


c7.57


L61

(B)

c7.24


L62
c93.19



c7.25

Print line L59 when c7.21 > 0 and c7.25 > c7.20
Lines L60 and L61 print when c7.57 > 0 and c7.25 > c7.20
Print line L62 when c7.25 > c7.20
L63
plus Tax due on annuity payments
c18.5
c93.9
c18.6


L64
minus non-payable tax credits on Dividends



c7.46

Print line L63 when c18.5 > 0

Print line L64 when c7.46 > 0

L65
plus Class 4 National Insurance Contributions



c7.48

L66
Income Tax and Class 4 National Insurance Contributions



c7.49

Always print lines L65 and L66

L67
plus unpaid tax for earlier years in your tax code for 2001-2002


c7.50

L68
plus Student loan repayments


c7.51

Print line L67 when c7.50 > 0

Print line L68 when c7.51 > 0

L69
minus Tax Deducted at Source from





L70
Employments and Directorships (PAYE)
c93.24




L71
Self-Employment (as a sole trader)
c93.25




L72
Partnerships
c6.5




L73
UK Land & Property
c6.6




L74
Foreign Income
c6.7




L75
Trusts and Estates
c6.8




L76
Overseas Income
c6.9




L77
UK Interest 
c6.10




L78
UK Pensions
c6.11




L79
Void ISA's
c6.12




L80
Other Income
c6.13




L81
Total tax deducted at source



c6.14

Lines L69 and L81 print when c6.14 > 0

Lines L70 through L80 only print when the data is not null or zero (e.g. Line L76 prints when c6.9 is not null or zero)

L82
minus unpaid tax included in your tax code for a later year  



c7.54

L83
c93.20


 
c7.56

Line L82 prints when c7.54 > 0

Line L83 prints when (c7.56 <> c7.49) or (c14.13 > 0)

L84
Capital Gains Tax





L85
Taxable Capital Gain
c14.13




L86

c14.14
c93.8
c14.15


L87

c14.17
c93.11
c14.18


L88

c14.19
c93.10
c14.20


L89
plus Liability from off-shore trusts

c14.22


L90
minus Tax Credit relief


c14.23


L91
c93.21



c14.24

Lines L84, L85 and L91 print when c14.13 > 0

Print line L86 when c14.14 + c14.17 + c14.19 > 0

Print line L87 when c14.17 + c14.19 > 0

Print line L88 when c14.19 > 0

Print line L89 when c14.22 > 0

Print line L90 when c14.23 > 0

L92
c93.22



c7.58

L93
plus tax already refunded in the year


From box 20.1

L94
plus unpaid tax for earlier years


From box 18.4

L95
Total Tax and Class 4 National Insurance Contributions due


c93.23

Line L92 prints when c14.13 > 0

Print line L93 when box 20.1 > 0

Print line L94 when box 18.4 > 0

Print line L95 when box 18.4 + box 20.1> 0
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